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A2 3,500,000& x22]* 1= 7,000
401 AIZHIX R0 10,000 10,000
01 AlZH| 10,000 10,000
OfIg== MA 10,000
THoHOII =QI==3 o Z 165,000 165,000 0
201 2= 15,000 15,000
01 At22t2l] 15,000 15,000
OMalf g & =7 EHl X2 15,000
401 Al HIZL 01| 150,000 150,000
01 Al&H| 148,380 148,380
Odtdits AR =2 At 15,000
O2F0IE AnR2FR=3AY 11,700
OIS AREFRI=SAAY 11,700
OdOE ARE2F0=S3AAMY 15,000
Ogdits A=At 15,000
OIS ARR2FR=SJAY 15,000
OSS0tE ARE2F0=3AA 15,000
OgHS ARE2FR=3AA 15,000
Ogas 43 XMelAr 15,000
Ogas MalAIE NS EHIA 19,980
03 AIZ2THYI 1,620 1,620 0
OTHoHolIe =2I=2 o Z 1,620
FOIXXIME 2el2g 10,000 10,000 0
201 fer=3| 10,000 10,000
01 AtR2te|HI 7,000 7,000
OF XX HE 22 5,000
OF2 XA A2 AHHIAE 2,000
2 35234l 3,000 3,000 0
O=2IXXIHE =24 1,000
OHMEtaed 2Al2el 2,000
ATt THOH Ol 50,000 50,000 0
401 AIEHIZ SR THYI 50,000 50,000
01 AlZ8| 49,460 49,460
OATE THoHOIZAFS 49,460
03 Al 20HHI 540 540 0
OATZ THoHOI 2 ALS 540
HH2ALH(LAE) 97,748 96,506 1,242
=238l 97,748 96,506 1,242
2as JI=23d| 97,748 96,506 1,242
201 et 3| 30,038 28,7%6 1,242
01 At22t2l] 25,038 23,7% 1,242
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20258 =0l LB FAE ~ XIAHH

H20
o FSYH FOAX UWERD 75
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D HSH AFAMHIA 23St

Al A

- B O9l(3H) - NIRAY - BAS A
466,552 465,916 636
HOHXX HERHZR = 408,278 408,344 ABB
HEAMHIA 23t 408,278 408,344 A66
ABlA 2el29Y 136,548 134,950 1,598
01 2124dl 16,048 15,776 272
M IIRHZ2Z2XSE+ 16,048 15,776 272
OBAIR A LHel SZEd] 21fRY
80,2403 »2ZH 1002 16,048
201 Let23| 120,000 118,674 1,326
01 ArR22eltl 42,200 40,824 1,376
O&EIIdE & ME =2
600,000 *43] 2,400
OAMRID| 28 2258 7¢ 10,000
O=Xz2 22285 & 2858 7Y
400,000+ 128 4,800
OARE2E 74 500,000& 123 6,000
OF=I1,8l0 A28 & ABFE INHIE 3,000
O3JI18&)| 2= 2,000
OBAIRA el 3 ABRSHY
300,000& =123 3,600
Ostolf &l & & ¢ 2,400
OBARA 2013H| 2832
110,000& 122 1,320
OHAIRA CCTIVEXIZel HIE
30,0002+ 128 360
O=X3gl2 2013 3=
100,000& *12& 1,200
O=Xzl2 M-8 ere2te| e
130,000& 122 1,560
OSXgl& AYUAIE SX2e e 1,760
O=X32 s2I| szl
150,000& * 12& 1,800
02 E324H| 77,800 77,850 A0
OUAMRL &I 900,000& 123 10,800
OJzs HIIes 2,000,000 =123 24,000
OBMEL HER2=
80,0003 *12& 960
Omddgs AlE2 250
OREE d&e23 2,000
OZAIRA & X2 A5 1,200
OBAIR A dHg)| EA 2,000
O283sEg A2 5,000
OlISYSAIAH 01823
30,0002 x 128 360
O0ISYSAIAE Sl 5,000
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OsXzl2 #JI2s 800,000 * 12 9,600
O=Xzl2 23] & ANLEES 12,000
O=lzla Stie=s 40,0003 * 122 480
O=Xzl2 5271 ZII1ZAHI
150,000& %12 150
301 EtE N = 500 500
1 BAREIXES 500 500
ORHLYE S 2AZ A =1
500,000& *12] 500
FoiEe dEad e 56,800 51,800 5,000
201 2= 3,000 1,000 2,000
01 At22t2l] 2,000 0 2,000
OF2 XA A2 AHHIAE 2,000
2 352484l 1,000 1,000 0
OFSH M5 s FA 2 1,000
206 M=l 10,000 11,250 A1,250
01 b 10,000 11,250 1,250
OADIX B2 X4 M| 10,000
301 LBHR I 3,800 3,800
02 MEISEHAHB(HAAE, L) 3,800 3,800
ST YRS YA
20,0003 »22] *@5 0t 3,800
401 AIEHIZL S0 40,000 356,000 5,000
01 Al&H| 40,000 36,000 5,000
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ONtes AT WA 30,000
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401 AlZHIZL RO 100,000 100,000
01 Al&HI 98,920 98,920
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10,000,000 98.92% 9,892
O+ 100t= Bi+==2 EHIAY
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O=XI0t= =2 HHIAI
10,000,000 *98.92% 9,892
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OgAlts =2 ALY
10,000,000 *98.92% 9,892
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15,000,000 x98.92% 14,838
OJ DS =2 dBIAY
5,000,000 *98.92% 4,946
SA=0tE 312 FHFHIALE 19,784
03 A& 2 0HYI 1,080 1,080 0
OXfofole =DI=JAAY =& 1,080
A2 THGHO & 30,000 30,000
401 AIEHIZL 201 30,000 30,000
01 AlEHI 29,676 29,676
OL7E THOHOIZEALS 29,676
03 Al CHHI 324 324 0
OL7E THOHHIZEALS 324
NES=E 2Y 74,930 81,5% 6,664
101 2124t 16,530 20,194 A3,664
M IIZNZ2 2 NS Es 16,530 20,14 A3,664
OXxz==g 222 Ry 16,530
=Jl22 80,2403 * 15 *10&E x 1Y 12,036
—=54 80,2403 x44=F+1H 3,531
— A== 80,2403 x 121 963
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odIIZ 2,000,000& *12& 24,000
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300,000 23| 12& 7,200
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HSH J|2Z&| 58,274 57,572 702
201 Ler23| 16,338 15,636 702
01 AtR22elt] 13,338 12,636 702
OHE AR=F& 9,558
OHy J2FT(SAHI) 3,780
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OXEE=XAE FA2el 3,000
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120,000& #2501+ 12] 3,000
FOIEO MEatd e 67,296 67,296
101 e124d| 35,340 36,340
M ORINZZ2NSE S 35,340 36,340
OdliesII8dI=8 Hx&g 22Y
190, 000& 2 »33] 1,140
O=23Hs FH(=8TZ 25kn) M=HYLLY
190,000 x36 2 *53] 34,200
201 et 3| 24,956 24,95
01 AtR2tc|Hl 16,520 16,520
O=2Ix 2208 25+ 6,000
OF2 XA A2 AHHIAE 2,000
OsXzl2t 23 6,000
O=sXgl2 RFHIAL |X2telt]
60,0002 * 122 720
ONOIEESE 2ZAE B
150,000« 12& 1,800
02 S5=2g4l 8,436 8,436
O=sXzl2 &JIRs 650,000& 122 7,800
OSXzl2 aote= AIEZ
20,0002 x 122 240
O=Xzl2 Il AMs=
33,0002~ 12& 3%
301 EtE NS 2,000 2,000
02 MBI 2HHSFHS(HAANS, XLHE) 2,000 2,000
FEA HEYE gAY 2,000
401 AIEHIX SO 5,000 5,000
01 AlZH| 5,000 5,000
ORIE+= HA K& 5,000
THoHole =Ql=3 oflZ 110,000 110,000
201 fer=3| 10,000 10,000
01 AtR2te|Hl 10,000 10,000
Ol ol & =7 3l &Xt=z 10,000
401 Al HIZL S 0HYI 100,000 100,000
01 Al&H| 99,100 99,100
O=2&2 WolMlY =2 A 99,100
03 A2 THYI 900 900
S8 Moo 2= 900
ATt THOH Ol 30,000 30,000
401 Al HIZ S OHbI 30,000 30,000
01 AlZ2H| 29,676 29,676
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ATt THOH Ol 30,000 30,000 0
401 Al HIZ S 0HYI 30,000 30,000
01 AlZ2H| 29,676 29,676
Oar2 THoHMI AL 29,676
03 A& S CHYI 324 324 0
OATE THoHOI 2 AFS 324
HH2IAHI(LXIH) 58,234 57,532 702
=3l 58,234 57,532 702
SXI% J=2ZH 58,234 57,532 702
201 fer= 3| 16,338 15,636 702
01 At 2|l 13,338 12,636 702
Oogy gy 9,828
Oggd geFa(S4Hl) 3,510
02 S5=2g4l 3,000 3,000 0
OF AR & 2] 3,000
202 04t 29,376 29,376
01 =LHNHI 2,49% 2,49%
Ol gfxd 2,4%
02 A0 26,880 26,880 0
ogd 200,0003 1 ~12& 2,400
O=R¢# 0Olot 170,000 x12&12& 24,480
203 HR=H] 11,520 11,520
01 V22 HRFa| 8,000 8,000
oo a=g 8,000
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SA XA
33 NAH BOAX UWEHAT 2=
Chol: XIAND SEAHIA 23} (Crel: a2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O3.134k 2HDIAY 12 Y
520,000 * 1= 520
O24d DAZA AT Q14|
148,000& +6& 888
201 2= 12,936 12,936
01 At22t2l] 2,700 2,700
O=Xg@ 2UBLIAL SR
100,000& * 122 1,200
O=Xal2t AUAIE 1,500
02 S3=gl 10,236 0 10,236
o=slga dlles 800,000 * 12 9,600
O=lga Stleks 3,000& 123 36
O=a& == 50,000& x122 600
206 M=l 2,112 2,112
01 MHZH| 2,112 2,112
Ostetatel Mz 7 1,000
Oed RARA AT 22F 7
100& %11, 12004 1,112
301 EtE NS 5,520 5,520
02 ARSI E2E AT S(FANS, XLETHE) 3,120 3,120
TS JHEYE LA 3,120
B2 d=s 2,400 2,400 0
ON(SH M) 2elel Ba3
100,000 x2& * 123 2,400
401 AIZHIX 20 10,000 10,000
01 A28l 10,000 10,000
Othd-sN2 24 B Z22XH 10,000
THoHOII =QI=@ ofiZ 115,000 115,000 0
201 2= 10,000 10,000
01 At22t2l] 10,000 10,000
Oy & =7 &Hl X2 10,000
401 AlZHIZ S0 105,000 105,000
01 Al&H| 103,920 103,920
OZD10t2 THaHOI ALY 9,892
OUE0S THaHOI AL 9,892
O=80t= Mol ol A 9,892
OZE0IS THoH M ALY 9,892
OALEDS THAHOI 2 ALY 9,892
O HIOIS THAHOI ALY 9,892
Oatit0tE THoH ol AL 9,892
O&=0t= THolKIZ AL 9,892
OHAILHOHS THOH Ol ALY 9,892
O=4H0tS THAH Ol ALY 9,892
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O30S Bi+=2 SAt 5,000
03 AIZ2THYI 1,080 1,080 0
OMaHoe =2I=3 At 1,080
ATt THOH Ol 30,000 30,000
401 AlZHIZ SO 30,000 30,000
01 A28l 29,676 29,676
OarE THoHMI AL 29,676
03 A& CHYI 324 324 0
OATZ THoHOI 2 ALS 324
A2 AZHI(XIAH) 58,548 57,846 702
Jl=2dsl 58,548 57,846 702
KIAHHE J1=22ZH] 58,548 57,846 702
201 fer=3| 16,338 15,636 702
01 At 22|l 13,338 12,636 702
Oogy gexd 10,179
Oud gRF2(S4HI) 3,159
2 35234l 3,000 3,000 0
OFAIRX & 2el 3,000
202 04dl 29,690 29,690
01 2L AL 2,810 2,810
Ooud gf=d 2,810
02 XN 26,880 26,880 0
osd 200,000 x1H~12& 2,400
OR8& 0Olot 170,000 x12E « 12& 24,480
203 HR=AH] 11,520 11,520
01 V22 HRFa| 8,000 8,000
o) a2g 8,000
02 3t R F&| 520 520 0
OZ &Rt 40,0002 %13 520
M EASHLRFAH 3,000 3,000 0
ORAM2g 250,000 * 122 3,000
405 AHAHE S 1,000 1,000
01 TR ESF SHI 1,000 1,000
Oogy g4 1,000
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